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1.2 (XEa5M



EWAI

@ 53 ik

=1 (=5

Cal Curve Type

Linear Least Squares

Sample Introduction

Manual

SmartGate Ranges

(11.6-21 ),(28.5-42.5),
(55.5-56.5 ) (79-81)

Acquisition Time 5
Replicates 3
Sample Intro Time 30
Sample Pump Speed 6
Flush Pump Speed 30
Flush Time 10
Rinse Time 10
Rinse Pump Speed 10
Torch X position (mm) 9
Torch Y position (mm) 0
Torch Z position (mm) 0
Gasbox nebulizer flow (I/min) 0.68
Gasbox plasma flow (I/min) 10
Gasbox auxiliary flow (I/min) 0.5
Generator set power (W) 1200
Skimmer (V) -1500
Extraction (V) -1400
Z1 (V) -900
Y Mean (V) -250
Y Deflection (V) -2

Z Lens Mean (V) -1000
Z Lens Deflection (V) -30
Lens Body (V) -160
Fill (V) -30
Fill Bias (V) 0

Fill Grid (V) -13
Pushout Grid (V) -380
Pushout Plate (V) 690
Blanker (V) 150
Reflectron (V) 700
Multiplier Gain (V) 3100
Detector Time CO Work (ns) -825.226
Detector Time C1 Work 2013.48
Blanker Time CO (ns) 158.339
Blanker Time C1 247.582
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AERRFEEN 0.25ml B, Ti. V. Cr. Mn, Co. Ni. Cu. Zn. As. Se. Sr.

Mo. Cd. Sn. Sb., Ba. TI. Pb 1000ug/ml &% , 2ml Ca. Mg. Fe, Al
1000ug/ml & T 50mI FEMF , 0N 1ml KIEER , FKESEXERES |,
BDEgRk B. Ti. V. Cr. Mn, Co. Ni, Cu, Zn, As, Se, Sr. Mo, Cd. Sn,
Sb. Ba. Tl. Pb iREJ 5ug/ml, Ca. Mg. Fe. AlREA 40 ug/ml fI4R
HEPEBER ;. PiNEEZTREINETERT SOmMLEFEMF , A 2% HER
BREREAERRERRREESISHA.
1.4 HmitE
1.4.1 ENEEEE

HEBTREN 0.59 #yfEfarY/ kot T infRES IO Sml fHER  IEER |
IEEMENINE |, MNERTIEMEER | T 160°CGHE 4h , RAF | FIBIe
AENINE | EiHRRREEE | fEisRREINARR_ EF 100°CHNE 30min , i&AfE
F/KESZE 50ml, BOERA , FiME=aT.

HES TR EHRE ERAT(A)
1 80°C 2h
EHHEHR 2 120°C 2h
3 160°C 4h
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s | Ry | B2 | B3 | R4 | RIS | RAl6 | RHI7 | &5U8
1| B 0 1 5 10 30 50 100 | 200
2 | Vv 0 1 5 10 30 50 100 | 200
3 | Ti 0 1 5 10 30 50 100 | 200
4 | Cr 0 1 5 10 30 50 100 | 200
5 | Mn| 0 1 5 10 30 50 100 | 200
6 | Co| O 1 5 10 30 50 100 | 200
7 | Ni 0 1 5 10 30 50 100 | 200
8 | Cu| O 1 5 10 30 50 100 | 200
9 | zn| O 1 5 10 30 50 100 | 200
10 | As 0 1 5 10 30 50 100 | 200
11 | sr 0 1 5 10 30 50 100 | 200
12 | Mo | © 1 5 10 30 50 100 | 200
13 | Sn 0 1 5 10 30 50 100 | 200
14 | cd | 0 1 5 10 30 50 100 | 200
15 | Sb | 0 1 5 10 30 50 100 | 200
16 | Ba 0 1 5 10 30 50 100 | 200
17 | Tl 0 1 5 10 30 50 100 | 200
18 | Pb 0 1 5 10 30 50 100 | 200
19 | Mg | 0 8 40 80 240 400 | 800 | 1600
20| Ca| O 8 40 80 240 400 | 800 | 1600
21 | Fe 0 8 40 80 240 400 | 800 | 1600
22 | Al 0 8 40 80 240 400 | 800 | 1600
23 | Se | © 1 5 10 30 50 100 | 200
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F | x| 8x — TESE TR
g | & 5 mg/kg ng/mL
— b3 -
1 | B |09981| Conc= o.ol%c?g;gig Resp 0.5 2
— X
2 | v |o0.9997| Conc= 0'%(_)85131%861 Resp + 0 0.1
— b3 -
3 | Ti |0.9990| Conc= 0'010217%328 Resp 0.3 1.8
— * -
4 | cr |0.9995| Conc 0'0g3%45362788 Resp 0 2.5
—_ B3 -
5 | Mn |0.9995| Conc= 0'022_1552053764 Resp 10.2 3.0
— B 3 -
6 | co |0.9984| Conc= 0.0;)92?52%709316 Resp 0 0.5
—_ X -
7 | Ni |0.9979| Conc= 0'033347%6294 Resp 0 12
— B3 -
8 | cu|0.9993| Conc= O'Ofg_3845548759 Resp 2.7 0.53
—_ kS -
9 | zn |0.9996| Conc= 0'0306158231 Resp 10.0 2.5
— k3 -

10 | As | 0.9994 | Conc= 0'02%5236853802 Resp 0 0.47
11 | sr |0.9996 | CoNc= o.ool(?igégw * Resp - 3.0 0.02
—_ B3 -

12 | Mo | 0.9906 | Conc = 0'%?§§é§822 Resp 0.7 0.26
— k3 -

13 | sn | 0.9997 | Conc= 0'022‘3837335301 Resp 0 0.1
—_ kS -

14 | cd |0.9993 | Conc= 0'029232222 Resp 0 0.72
— B3 -

15 | sb | 0.9997 | Conc= 0'%‘_’?5&324 Resp 0 0.08
—_ B3 -

16 | Ba |0.9995 | Conc= 0'%?%333;8 Resp 12.7 0.20

— - B3
17 | TI | 0.9908 | Conc= 6'93_169897e3g§5 Resp + 0 0.002
—_ - B3 -
18 | Pb |0.9997 | Conc= 7'701%5538%0055 Resp 0 0.02
19 | Mg | 0.9994 | Conc = O'Off35$360764 * Resp - 438 4.6
20 | Ca | 0.9959 | Conc = 0.0132083 * Resp - 466.833 318 13
21 | Fe |0.9911| Conc= 0'%%%‘779_557 * Resp - 42.6 12.5
— * -
22 | Al |0.9994 | ©onC o.o§§).3121297577 Resp 20.6 4.0
23 | se |0.9984| Conc= 0'03%5_gff§3 * Resp - 0.2 2.0
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